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>
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k = 0.03707 W/m® C
T 1020.7 J/Kg° C
- (78)¢0.08707)  (1020.7)(0.000025) ‘’*
(0.02417) (0.08707)
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R, (fouling factor) = 0.0001 m” hr° C/Kcal
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0.6486 W/m° C
2,870,000 J/Kg
1D, L_ =

(0.0166)(0.8)
0.04172 m
9.81 m/sec’

985.732 Kg/m”

2)(9.81)(985.782)*|*’*
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%\

-

2 257,000 J/Kg
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Qﬁﬂaﬂft’im UIINYNA Y

Kg.m/(N.sec )
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Kg/m.sec
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A,, = =na@D L = n T (0.0166)(1.6)
. »
= 0.083844 n
A,,.= A _ = n T (0.0166)(0.8)
= 0.04172 n
- 2
A_,, = 0.2808 m
A__, =  0.28375 m"
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o 1
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(0.08344 n) 1n1.1506
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Q = 16.125 Kcal/sec = 67467 Watt
o 67467
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= 4,878 m-
i¢ = Aip n
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X
h Ah_ C @ |
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= 1 + 1n (0.00855/0.0088) +
(76.38355)(0.283875) 2 (382)(0.8)

1
(53842.18)(0.04172)
= 0.04617 + 0.00007 + 0.00449
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Net free volume = 0.8 x 0.375 x 0.0818 - 1/2 (10 + 9)

/4 (0.0181)% (0.8) - 1/2 (10 + ©)
M/4¢0.0811% - 0.0191%)¢0.0008)(1000)(0.8)

3
= 0.00889 - 0.00218 - 0.000986
=  0.00825 m"
Friction surface ‘ {1 8) (A. + A ) (L)

Re_
) / (0.000025)
o 1 £ e LM 2 2
ddr Re_  liilangdsili . 1 = 0.0027 ft*/in
" ¥ 0.4 o.8
AP = D.v sl.
- s‘l‘ S'I'
; X
AP -#IB si
£ == friction factor ‘:I'l/in )

“ﬁuﬁﬁmﬂ%’ﬂﬂ’mw

= Volumefric equivalent diam@fer (ft)

QW’IMHWM&'IQWH’IG d

viscosity ratio (. M / my )®°*'*

57 - 1easu1esuuawoQuunawonaonaﬂwuudﬁnﬁctﬁw
zﬂ (8.7) (ft)
] ' { T o
T 1zﬂuuq01vu11oqu9na1evaonanag1n§nqn
;ﬂ (8.7) (ft)
G = 11.10187 Kg/m”.sec

8168.742 1b/ft*hr



L’ = S+ 13 % 6 = 18.78 ‘”o
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1000
S .0528 ft
s, - .
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81@1  Re_ ﬁuﬂ%mﬂﬂ%w Hq;];ﬁ 0.0027 ft*/in*

‘.“ = 8;84046 Ks/m .8ec
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.22 % 10° (0.03) (0.00185)(1)
AP = 0.027 psi
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